CURRENT PRODUCTS model:TB126

Nvavr NI SavI
w0z 221931 VS0 A0SZ=3SN
MOLXVIN "ZHO3/05 DVACDL

NS 92/8.° 300N

e pémmmm g

aLoway CETEN]

ofile

~SNIVIN

HS04 ONIOVIZZN THOATA
¥IMOJ IOANI IDFNNODSIA

BMINN =S I H

NN — A
NAN ANNANE -4

T
2
P
7
v
2
z
I

\w\ =y

-
S
5
7
Z
%
o .
1 2 A
[ ] 11
OOOOEOOEEE ) [0 OO OO 5 )
7+
ol ' &
DEOOEOLNEEOEES (DD OOEOOEEH
Mol
DODODOOEHEOEE) [DDODO0OOEEE-EHY
a I 7
o] Z%
| [O0OOOEOOEEH=Y [OORO0OORHEY
i
7
I
i1
7
2%
=
% 3
Q@10x8FA—F 1A~ IV IRTLTS 7 5
@x—4—HEAh 51
@LHrU L z 5
@i/ ON- OF F S
1 F— s 7y o ST .
O E—rHADLHIALAY b otttk L
OKEFIZ191>F1UHAX ~0
at 2
=7
N - — S
TB126IEAHN10RKE. HAFSRKEDA—F P
1] w . 7 H
4’7]'7I~)/ZZ7’/7’C70 ?E.,,.\,\Iﬁd),—,b\/\z\)ln—ﬁ SPECIFICATIONS :
LN BIEEREDHERERELTAEIZIENT 7
_. MAIN UNIT %
—_ —_ 1)« s e Zi
fi_zf MBI —F4F A HLEDT Ny T XE €SOURCE INPUTS: 10 it
LICHRETT, &INPUTS IMPEDANCE: BALANCED, 24kQ L
&INPUTS LEVEL: REF=+4dBu, MAX=+24dBu 4
/-2 ®INPUTS CONNECTOR: Dsub25-F(#4-40)
10RMOY —AZRIRTE F 9, F72, BIRL72RBILERZ A @MATRIX OUTPUTS: 8 g
T EHBSNET, @OUTPUTS IMPEDANCE: BALANCED 50Q )
®OUTPUTS LEVEL: REF=+4dBu, MAX=+24dBu i
LA €OUTPUTS CONNECTOR: Dsub25-M(#4-40) =
BEGEIRW R Y — 23 I v 7 ASRTTY 7y FLRvav b @REMOTE CONNECTOR: Dsub9-F(#4-40) b
—VERML T SRET ML RO HTo~0 d BORENT $FREQUENCY RESPONSE: 20Hz~20kHz +0.1dB
XF4. 70 MHUOONKY v bERLTHEATZ LTBEh T, &THD: < 0.03% at 1kHz REFERENCE LEVEL 57
&MAINS: 100VAC 50/60Hz, 15W MAX 55
*x—4— @DIMENSIONS: 482Wx44Hx303D, 4kg il
2 by I AMNEE= Y —F 210D A—F =N ERLTOET, REMOTE UNIT i
@METER OUTPUT CONNECTOR: Dsub25-F(#4-40)
SER @REMOTE CONNECTOR: Dsub9-F(#4-40) Py
AREVE—PL=y MIRS422TYYT7TIVERLET Y E—F @MAINS: 100VAC 50/60Hz, 10W MAX t8
L=y MEI YRS PRBROZZOFEHCI VY —VEIIT Y FTD @DIMENSIONS: 482Wx177Hx68D, 3kg b7
CLHTEET, 27
L <
|
orom o , , MEYRNE TB126
% c h&Br, K& Y ZFdtARC b’@‘f%ﬁ“f’bi‘i«a EFANE 3o SEM%:¥ 1,920, 00 0 @) 2
LHBOY MY Y 2 2T Y THRFC L ETOTER bR TS, HER:ACH—T I 4
)
CURRENT,INC. 2-26-11, AKATSUTSUMI, SETAGAYA-KU, TOKYO, 156-0044 JAPAN 7
HRASH DL 2 b T156-0044 F ARt A AKX F122-26-11 TEL:81-3-3321-9559 FAX:81-3-5376-2735 5
The specifications are subject to change without notice. AL #NZFIE FHELLK LT T LI LDV FTOTHON LD T TR ZE 0, th

(¢)CURRENT,INC. www.crnt.co.jp & 47



ou et NVdV NI 3aVIN @ @ @ @
ou iz ou i1 g+a 6T z+a 190 wuwozxg 221031 ‘Y50 A0SZ=3SN4
4T ITY tyT MS ITY (TT  T+d 8T 0-Q :S0 _MOLXVIN 'ZH09/0S OVA0OL
: 8-1 ‘€T L-1 0T  T-Q LT €-a %0 NS 9zial:13aon
6 9-1 *zT S-L *60 S-a 9T L-a (] n
(07-"+) $'8°¢€ v-1 1T €-1 i80 0T-Q ST 02Z-Q 20 "ONI'LN3HHND Jlowad H3law o -
(0%-"+) 9'z°L ixx z-1 oz T-L L0 AS* (BT A0 GTO
(2Zvs4) dtoWay 3no UTd WAIEW N3dO LON HSNd ONIDVIdHY HHOAZL o *®
2/O0HS JLOI 13 40 MiSid ¥EMOd INANI LDANNODSIA b
o <
CURRENT
MATRIX AMP model:TB126
(@) © At RET1 ® @)
° 0
RET 2
o o <
~
FB1 RET 3 4U l;

o] P[] L L ] HEE e O:

FB2 RTS PGM
. R . . R

482.0

(c)CURRENT,INC. RETURN MATRIX TB126 Sep.2005

H.ICHIHASHI METER PANEL TB126-RD




el aye

§-1 LNdNI 30HN0S 01-9 1LNdNI 304NOS

### N3O LON 00 MOOHS O1HL0313 40 NSIH i NOLLNVD ###

ST'TI'ZZi8UD  6T’90°8T+HUD
TT'€Z/0THLUD  SO’LT' PO EUD
22760°1Z:94° 9T'€0’
8070Z'L0GUP  Z0’PT’T0:TUD
(07-7+) 3Ino uTd szansa

) 9

« :
(2gysd) aiomad

NVdJVF NI 30VIN wwiogxs 221031 ‘i A0sz=3snd ‘Msk=xvin ‘zHo9/0s OvAcot [ ns oz1a1:1opow ONI'LNIHHND

000000000000
000000000000 ®

g @ o ®

8-1 SINdLNO XIHLVIN

2gysSH 3103 ~SNIVIN

H5Nd ONIDYIdAY HYoJdd
¥HMOd INdNI IDINNODSIA

©
o
=)
1)
(@D) ©
o
MATRIX AMP DRIVE Q'
(= 3
o ©
482.0
(¢)CURRENT,INC. MATRIX AMP TB126 Sep.2005
H.ICHIHASHI PANEL DIAGRAM TB126-D




0dBm

MATRIX
OUTPUTS
D25-M(#4-40)

1-8

(oonoooooo

(oonoooooo

(oonoooooo

(oonoooooo

(oonoooooo

(oonoooooo

OUTPUT

OUTPUT

(oonoooooo

> N

TIIITI

05 [

SourceSelect

)RR

ARAN

ANVANVANVANVAN

Auxz [~

sv2
cm
AUX1
AUX3

svi [
V
B
V
sTL [

AIR

0dBm z=6000

\

=
-

Auxa [~

SOURCE
INPUTS
D25-F(#4-40)

o G oo Gy o

REMOTE
D9-F(#4-40)

Sep.2005
TB126-B

RETURN MATRIX TB126
SYSTEM DIAGRAM

(c)CURRENT,INC.
H.ICHIHASHI

<>

©




TB126 "SOURCE INPUTS1-5","6-10" D25-F(#4-40) Connector Pin List

Ribben Hard Signal name Designation Active
1 1 CH-1+ CH-1/6 HOT
2 14 CH-1- CH-1/6 COLD
3 2 CH-1G GND

4 15 CH-2+ CH-2/7 HOT
5 3 CH-2- CH-2/7 COLD
6 16 CH-2G GND

7 4 CH-3+ CH-3/8 HOT
8 17 CH-3- CH-3/8 COLD
9 5 CH-3G GND

10 18 CH-4+ CH-4/9 HOT
+H 6 CH-4- CH-4/9 COLD
12 19 CH-4G GND

13 7 CH-5+ CH-5/10 HOT
14 20 CH-5- CH-5/10 COLD
15 8 CH-5G GND

16 21

17 9

18 22 GND GND

19 10

20 23

2t 11 GND GND

22 24

23 12

24 25 GND GND

25 13

oo oboboboobobooboboboboooboooobonbo

gboboobooboooboobbobboob

CAUTION! D-Connector for wiring refer toHard pin number Description.

Mounting screw for D-connector use #4-40 size.

(¢)2005 CURRENT,INC.




TB126 "MATRIX OUTPUT 1-8'" D25-M(#4-40) Connector Pin List

Ribben Hard Signal name Designation Active
1 1 CH-1+ MATRIX OUT 1 HOT
2 14 CH-1- MATRIX OUT 1 COLD
3 2 CH-1G GND

4 15 CH-2+ MATRIX OUT 2 HOT
5 3 CH-2- MATRIX OUT 2 HOT
6 16 CH-2G GND

7 4 CH-3+ MATRIX OUT 3 HOT
8 17 CH-3- MATRIX OUT 3 HOT
9 5 CH-3G GND

10 18 CH-4+ MATRIX OUT 4 HOT
+H 6 CH-4- MATRIX OUT 4 HOT
12 19 CH-4G GND

13 7 CH-5+ MATRIX OUT 5 HOT
14 20 CH-5- MATRIX OUT 5 HOT
15 8 CH-5G GND

16 21 CH-6+ MATRIX OUT 6 HOT
17 9 CH-6- MATRIX OUT 6 HOT
18 22 CH-6G GND

19 10 CH-7+ MATRIX OUT 7 HOT
20 23 CH-7- MATRIX OUT 7 HOT
2t 11 CH-7G GND

22 24 CH-8+ MATRIX OUT 8 HOT
23 12 CH-8- MATRIX OUT 8 HOT
24 25 CH-8G GND

25

13

oo oboboboobobooboboboboooboooobonbo

gboboobooboooboobbobboob

CAUTION! D-Connector for wiring refer toHard pin number Description.

Mounting screw for D-connector use #4-40 size.

(¢)2005 CURRENT,INC.




"TB126'' Connector Pin List

"MAIN UNIT REMOTE" D9-F(#4-40)

Ribben Hard Signal name Designation Active
1 1 FG FG

2 6 TX GND TX GND
3 2 TX- TX-

4 7 TX+ TX+

5 3 RX+ RX+

6 8 RX- RX-

7 4 RX GND RX GND
8 9 FG FG

9 5

"CONTROL PANEL REMOTE" D9-F(#4-40)
Ribben Hard Signal name Designation Active
1 1 FG FG

2 6 RX GND RX GND
3 2 RX- RX-

4 7 RX+ RX+

5 3 TX+ TX+

6 8 TX- TX-

7 4 TX GND TX GND
8 9 FG FG

9 5

gbobooooobooboboboooooobooobooobobooooboooooobobobobobobooooboon

CAUTION! D-Connector for wiring refer toHard pin number Description. Mounting screw for D-connector use #4-40 size.

(¢)2005 CURRENT,INC.




TB126 "METER OUT'" D25-F(#4-40) Connector Pin List

Ribben Hard Signal name Designation Active
1 1 ov SWITCHES COMMON
2 14 +5V LAMPS COMMON

3 2 B7 METER SEGMENT 1
4 15 B8 METER SEGMENT 2
5 3 B9 METER SEGMENT 3
6 16 10 METER SEGMENT 4
7 4 Bl11 METER SEGMENT 5
8 17 B12 METER SEGMENT 6
9 5 B13 METER SEGMENT 7
10 18 B14 METER SEGMENT 8
+ 6 B15 METER SEGMENT 9
12 19 B16 METER SEGMENT 10
13 7 T-1 METER SELECT 1

14 20 T-2 METER SELECT 2

15 8 T-3 METER SELECT 3

16 21 T-4 METER SELECT 4

17 9 T-5 METER SELECT 5

18 22 T-6 METER SELECT 6

19 10 T-7 METER SELECT 7

20 23 T-8 METER SELECT 8

21 11 ALT SW ALT SWITCH

22 24 ALTLP ALT LAMP

23 12

24 25

25 13

gboboobooboobobooboobo
gobogobodboobboobuoooobooboobbooboon

ooooooboobobobooobooooboono

CAUTION! D-Connector for wiring refer toHard pin number Description.

Mounting screw for D-connector use #4-40 size.

(¢)2005 CURRENT,INC.






